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A= . 2A - FH - HA(S) - MRAY - BES Ol &4 i Ak O Hw&E2
DELMD 142,631,565 131,657,435 10,974,130
= 12,110,000
X 120,538,000
< 9,983,565
2o 435 HE 56,719,400 63, 192,500 26,473,100
= 12,110,000
X 39, 178,000
< 5,431,400
Xegd Jgas 10,567,400 431,000 10, 136,400
X 9,374,000
< 1,193,400
XLy £ 86,300 167,000 80,700
202 04 Hl 6,300 7,000 AT00
01 201t 6,300 7,000 AT00
OXGULA HREX 6,300
403 XHRIEHHIS K201 & 80,000 80,000 0
02 B 2SOl CHBH RHE & CH 8 AF S b 80,000 80,000 0
OXls|Yutets &I} 80,000
SRNANENS 22 X 67,100 61,000 6,100
306 E0i2 67,100 61,000 6,100
01203 67,100 61,000 6,100
OB=ZNANEMS 2% X 67,100
NAMSALNE N 2 203,000 203,000 0
X 203,000
101 @1 24| 110,000 110,000 0
X 110,000
02 JIEtR 24 110,000 110,000 0
OfIZtel M2 Z0 49,000,0002 2% 98,000
X 98,000
OfIZtol M2 A g 6,000,0002 x2% 12,000
X 12,000
201 LBt | 20,600 20,600 0
X 20,600
01 At 22l 20,600 20,600 0
ONAMSALNOIK 2% 12,000
X 12,000
OJIEHE ZAl| 3,600
X 3,600
03l9% S Uit 5,000
X 5,000
202 01l 12,400 12,400 0
X 12,400




NENSIEES N SN RELED
B AT HEE BE
G XY9Yd DBt = (&)
AT 2N EHH . O(FH) - MRAY - By O &b o8 adl = HDS2
2= FA-85-d FAY - B . ofl &k 2 S
01 2ol 12,400 12,400 0
OXNSGMEALXMHEOIX SH Kl 12,400
Xl 12,400
207 A FIHEHH| 40,000 40,000 0
Xl 40,000
01 A32E49H| 40,000 40,000 0
OLAT DHYH Yot HRE 40,000
X 40,000
307 212H0| & 20,000 20,000 0
Xl 20,000
=== 10,000 10,000 0
ORI2I0INMEBE S 10,000
Xl 10,000
07 d2X3= 10,000 10,000 0
OE&Z HE 2 10,000
Xl 10,000
NEHEMESASE ALY A& 2,742,000 0 2,742,000
Xl 2,552,000
= 190,000
403 XX EHHIS AHE0| & 2,742,000 0 2,742,000
Xl 2,552,000
& 190,000
01 AXSH 22X 2,742,000 0 2,742,000
OXNGH=2SMER SHSEANY X (=Z1) 2,742,000
Xl 2,552,000
= 190,000
SOE FHUX S MEOIA HEAY 4,016,000 0 4,016,000
Xl 3,559,000
= 457,000
403 XX EHHIS AHE0| & 4,016,000 0 4,016,000
Xl 3,559,000
& 457,000
01 AXSH 22X 4,016,000 0 4,016,000
OsHE FUXNE MENHAH HEAIE(Z21D) 4,016,000
Xl 3,559,000
= 457,000
SAl FAXSE MEAHAH HEZAS 3,453,000 0 3,453,000
Xl 3,060,000
= 393,000
403 RFXISHH S XH= 0l & 3,453,000 0 3,453,000
Xl 3,060,000
& 393,000
01 AXSH 22X 3,453,000 0 3,453,000
O Al FUXE MENHAH HEAIZ(Z21D) 3,453,000
Xl 3,060,000




2EE dEEH HE
XA JERE (= RED
2. 2A - B ER(ED) - NRAY - BES 0l b e Rz
| = 393,000
|[FMEIIEAIE &5 25,867,000 39,355,500 A 13,488,500
= 12,110,000
Xl 9,519,000
o= 4,238,000
L2CESHE(HINR) 3,250,000 5,900,000 A2,650,000
N 2,500,000
o= 750,000
403 XXM S X201 & 3,250,000 5,900,000 22,650,000
N 2,500,000
T 750,000
01 AXSHMA2E R 3,250,000 5,900,000 22,650,000
OS=o&EXF AESEH 3,250,000
N 2,500,000
o= 750,000
L2ESERH(sAER) 7,507,000 13,653,000 A6,146,000
N 7,019,000
o= 488,000
403 XXM S X201 & 7,507,000 13,653,000 26,146,000
Xl 7,019,000
T 488,000
01 AXSHMA2E R 7,507,000 13,653,000 26,146,000
QLB SMUHEXND AESFH 7,507,000
N 7,019,000
o= 488,000
FEOIZSHALFHIG S SEMNL(=1) 12,110,000 16,875,000 A4,765,000
= 12,110,000
403 XA XISHHSXt=01H 12,110,000 16,875,000 A4,765,000
= 12,110,000
01 AXSHMA2E R 12,110,000 16,875,000 24,765,000
OFe0IZEHASIFEHAA S MY 12,110,000
= 12,110,000
NSHLEAME K& 3,000,000 2,927,500 72,500
201 2 EH2EHI 17,000 1,500 15,500
01 At 2teltl 17,000 1,500 15,500
OXG LAY 22| 2 17,000
202 044l 8,000 8,000 0
01 =LHOYI 8,000 8,000 0
OXSIHLAIY SEXNE3H & Bt 4,000
OXIEML A SEHE +2 A2 4,000
403 XA XISHHSXt=01H 2,975,000 2,918,000 57,000
01 [XISMAE2E X 2,975,000 2,918,000 57,000
O% ZH =HSF3EHI 50,000




(&4

ERE VR £ 04 4t o e HIDE2

od=st fclits gAY 2,925,000
Oltsal2 Ax - B5(504 430,000
ootz =4 (187HA) 645,000
O==2ZZE (1504 4) 670,000
Oawg &XI(5MH4) 775,000
Ott==2 Zdl(2H2) 200,000
O21 EH4MA) 205,000

ANSDEHE 20,285,000 23,406,000 A3,121,000
N 20,285,000

TEXNG HLEAXR S2MHE(= 5,291,000 8,894,000 23,603,000
Xl 5,291,000

403 XHXIHA S 5,291,000 8,894,000 23,603,000
N 5,291,000

01 REXIEHA 5,291,000 8,894,000 23,603,000
ong=s 5,291,000
Xl 5,291,000

HAHQL 2o 13,686,000 13,500,000 186,000
N 13,686,000

403 XHXI XIS At 13,686,000 13,500,000 186,000
N 13,686,000

01 XEXIEH X 13,686,000 13,500,000 186,000
ogod e =2 13,686,000
Xl 13,686,000

NA=2%E X 1,308,000 0 1,308,000
N 1,308,000

403 NUXISHH S 1,308,000 0 1,308,000
Xl 1,308,000

01 XXM A=2E 1,308,000 0 1,308,000
OX == & 1,308,000
N 1,308,000

HNE "atA JiXl ML 1,903,700 2,043,400 A139,700

CIYHE 2& Jlgh 3 1,903,700 2,043,400 139,700

CEME Bt IOtX 126,500 139,800 13,300

201 Yer2 Yy 9,000 6,000 3,000

01 At 22| 5,500 6,000 A500
OCtIgH L LS 2 5,500

03 A2 3,500 0 3,500
Ot &l o gdEog 29 3,500

202 Ol 2,500 2,800 A 300

01 2LHAYI 2,500 2,800 A 300
OCIHUNME HatH Jtxl qEFA 2,500




A= J|2XEY 2N Z8YED
A CJAUHE E3E ItX M2
chel OYNE 2d J|gt 25 (ctel:®2l)
- — PoRE |
A= . 2A - FH - HA(S) - MRAY - BES Oil &+ loﬂEoEu Hw&E2
301 LEtEAZ 20,000 6,000 14,000
1 IJIEt2 A3 20,000 0 20,000
OLIHME "atal A& K& 20,000
307 glz2tol & 95,000 125,000 A 30,000
04 CIZHHALAISE & 95,000 95,000 0
OLIYNE B2y X 50,000
OLIUME Zatar Ald X 45,000
CIEME HAst &5 &N 24,700 100,876 AT6,176
201 2 EH2EHI 15,000 50,000 A35,000
01 At 22l Hl 15,000 20,000 A5,000
OLIgHNE IHXEE 15,000
202 ol 9,700 10,876 A1,176
01 2ol 9,700 10,876 A1,176
OLIAHE Has 25 JRFT 9,700
CYHE H3t® 012 1,752,500 1,802,724 AD0,224
201 YEr2 ] 200,000 0 200,000
03 A2 Z I 200,000 0 200,000
ODMZ XtEHHENOI= JHEl K& 200,000
202 044l 2,500 2,724 A224
01 =L YI 2,500 2,724 A224
OMZ ESHE0IE PR=FX 2,500
307 glz2tol & 50,000 0 50,000
04 QIZFSHAIAIZ B & 50,000 0 50,000
ODMZIIXIMD & =82S <& Hat=d 50,000
403 XXM S X201 & 1,500,000 1,800,000 A300,000
01 AXSHMAZ2E R 1,500,000 1,800,000 A300,000
o"sils =4 1,500,000
NS 4ol A s 80,729, 100 64,791,700 15,937,400
Xl 78,143,000
= 2,586,100
33X e 80,729,100 64,791,700 15,937,400
X 78,143,000
= 2,586,100
St MEHESIHE THAIE(=1) 8,089,900 5,343,000 2,746,900
N 6,223,000
[ 1,866,900
403 XXM S X201 & 8,089,900 5,343,000 2,746,900
N 6,223,000
< 1,866,900
01 AXESHMA2E R 8,089,900 5,343,000 2,746,900




A= JEXFEA =1 Fa
Hu: MANS Mol F s
Chel: FZXSE o (=& JH)
AR RN ZB . CR(EA) - NRAY - BES 0l &k o8 e HlmE2
OStEtE MEHESIHE LAY 8,089,900
Xl 6,223,000
& 1,866,900
3N HE ALY =& 7,000 7,700 AT700
202 oddl 7,000 7,700 AT700
01 SLHOYI 7,000 7,700 AT700
O&EEXNS MLAME F& 7,000
3N XA (=1) 54,480,000 50,053,000 4,427,000
Xl 54,480,000
403 XX SH M S X201 & 54,480,000 50,053,000 4,427,000
Xl 54,480,000
01 AXSHMA2E T 54,480,000 50,053,000 4,427,000
o¥ZXNA X2 54,480,000
Xl 54,480,000
=3l AE Feld =8(=1) 6,252,200 6,388,000 A 135,800
Xl 5,540,000
= 712,200
403 XXM S X201 & 6,252,200 6,388,000 A 135,800
Xl 5,540,000
& 712,200
01 AXESHMA2EER 6,252,200 6,388,000 A 135,800
O"st NHEH Fel&d =4 6,252,200
Xl 5,540,000
= 712,200
SNsMESICZ T4(21) 3,000,000 2,000,000 1,000,000
Xl 3,000,000
403 MRS S =01 A 3,000,000 2,000,000 1,000,000
Xl 3,000,000
01 XtXIEM A 22 X 3,000,000 2,000,000 1,000,000
OSN=MEBIEZ =4 3,000,000
Xl 3,000,000
AR ANLE s20|8 RF(21) 8,900,000 1,000,000 7,900,000
Xl 8,900,000
403 XXM S X201 8,900,000 1,000,000 7,900,000
Xl 8,900,000
01 AXESHMAE2EER 8,900,000 1,000,000 7,900,000
OZZXNG M SHI|Ig 25 8,900,000
Xl 8,900,000
SHE ME|E =5 3,217,000 1,568,000 1,649,000
Xl 3,217,000
SE4EEE =4 3,217,000 1,568,000 1,649,000
Xl 3,217,000
SEZAN 8485 dEXNR(sAER) 3,217,000 1,568,000 1,649,000




SENSIEE S SN BESED
HE: s0{E MBI|8 25
Ol SEMBEY XA (S91:&8)
- _ — PoRE |
AT RA - FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
Al 3,217,000
403 XIS S AHE01 A 3,217,000 1,568,000 1,649,000
Xl 3,217,000
01 IXIESMAEE X 3,217,000 1,568,000 1,649,000
OgutsdUENS SESEXNE LS 3,217,000
Xl 3,217,000
=2 HI 2T A 24,400 27,000 A2,600
g=2ZHEd F=a 24,400 27,000 A2,600
g5 ZMEEAY =8 9,400 12,000 A2,600
201 et A 2,000 4,600 A2,600
01 At 2teltl 2,000 2,000 0
OLSYAT DRHAFING 2Y 2,000
202 044l 7,400 7,400 0
01 =L YI 7,400 7,400 0
OZEANEY Y= 7,400
g2t NsgaEl|ed 29 15,000 15,000 0
201 et | 15,000 15,000 0
01 At 2teltl 6,600 6,600 0
OAIRA 22Xz 6,600
02 3323l 8,400 8,400 0
OAtR4 2teldl & 2323 8,400
HY2IAH(ZELE) 37,965 34,835 3,130
Jl=ddl 37,965 34,835 3,130
FH2E J=34| 37,965 34,835 3,130
201 2 EH2HH| 25,605 25,708 2103
01 At 2t2lbl 23,005 25,708 22,703
ORNM2E AR22/bI 23,005
02 3223l 2,600 0 2,600
ORNZE S&=294H| 2,600
202 044l 8,160 6,127 2,033
01 =L YI 8,160 6,127 2,033
OfN2E NI 8,160
203 &Rl 4,200 3,000 1,200
04 RA2SERFEH 4,200 3,000 1,200
©30¢! Ol ot 350,000& 128 4,200




